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Answer the following questions P AGY A e cui
1- Choose (A) or (B) and answer the (@) 9 (1) otaudt a5 =)
question: roa | @d
What would happen if .... § .l e G 15 0e
(A) Shale subjected to high pressure and | dascst Jatatl yivw i 423 (1)
low temperature. Ansdia byl ym g pull po
(B) Kerogen get heated to 480 °C. A I (i g S (s ()

2- Choose the correct answer:  dsuouall Wl Y 5 =Y
Desert environment is characterized by Loa S0 A o piaal | A | 3Liad
eaCEPt. — waa NN fac Lo il

Very hot during day and cold during night. | .S0d 53551 15lg 851yt useis
Very hot during day and night. L g 15Lgh Byl ot | Bkt
Abundant storms and bright light . 9ual| B g Canlgall 3,58

Arid and dry. (alaxntt) sladl 3y g Wl

®O06

3- Discuss: b Lt Jle -Y
The agricultural soil is a product of gt (ye e 301 T | i
chemical weathering of Igneous and A gl g iy guaall AcilaSH
Metamorphic rocks.
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4- What would happen when rounded 1 ole Ad el FL Lo - €
pebbles more than 2mm in diameter 1 8y el Sl ke

get cemented together?
§ padle ¥ e LgiligSa ad o

S- Replace the statement with a suitable | zllaadly 5)lal Jadw -0
scientific term: +cwlia | o alalf
The imaginary line passing through the | _ i " .
A)M')ngﬁgﬂ‘g@ﬂ‘u|
center of crystal that when the crystal | ™" =~ .
rotate about it, the face or edge repeat AalS 3ygaBoshell Alg Sols 98 Ciaony

itself twice or more. Lilg) ol By o o gl gl 52
- 81 1 (5 50 35101

6- What is meant by porosity? Seeeann = dgadell bo -1
) 93uall dolun
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7- Choose (A) or (B), then compare (@) 9 (1) udoudt i st -V
between: roa @3
(A) Sial and Sima in terms of type of rock 1o (1B
and composition. Loscw | yg3nin g Jewt! yg3na (1)
(B) Volcanic and tectonic earthquakes. oSyl - puallp g Coon [y
+A 9SS JH¥ 59 &GI8 5 JHY) (@)

[4]
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8- Study the figure and answer the question: | :coi @ Elolal i1 JSEN (uyat -A

15t : Determine the structures found in the | c==S' =1 glg—31 s> ¥

ﬁgure' ' LIS L B 9 gl
2M4: Tell which one is the youngest? | § Grnf Lagal :Lols

2
9- What is the importance of: 1 (v JS dradi Lo -4
1** : Synthetic fibers. - Sie Ll | ALY £ ¥ ]
2" : Humus. | S JLgutl :Lols
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@l 92159 = )=o) ? < =t 3 el

10- Choose (A) or (B), then give an 10 (@) 91 (1) o 3aadt i 250t = e
example: : WL ,S
(A) Mineral that usually encountered along | I3 o1& cuyie Guae (1)
ALl g giwe
fault plane.
OLLo acd & il juae (2)
(B) Period dominated with true angiosperms. e i

11- Choose (A) or (B), then answer the (@) 9 (1) o1 guadt iyt =\ )
question: roa i @d
What would happen to ..... Tees e S 13Le
(A) Rolling of pebbles in current direction | e st Sl 7,05 (1)
sladt Hla olondl 2 ,gdipld
o 398 (pe JLea W ad; (0)
.3l Lo

on the bottom of river.

(B) A load suddenly removed from above

a rock.

[6]
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12- Choose (A) or (B), then interpret: 10 (@) ol (1) o guadt i f p3n1 2\ Y
(A) Stability of biological balance in the | ’J‘“‘a
P o> erdl Oyl Sl (1)
.g.i,.@‘ allad
(B) Occurrence of decomposers affects the | attooticlisilstiaga,y (o)
abundance of nutrients. Ot 3,89 Lo %

ecosystem.

13- Replace the statement with suitable sl palal pellaiaally 5 Laal) Juial =\ ¥
scientific term:

Layers of salt deposits, which characterize
the arid dry climate found now at the base
of sedimentary succession in North Europe.

Sjuan dmls Cewlg) (peo Ol
gl Jlad 2 dm gy Sl Una

14- Explain the importance of organic JAgiiaal! Sukew ) dredl sy -\ ¢
fertilizers.
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15-

vascular plants living in fresh water can

Choose the correct answer:

tolerate pressure that reaches...

®
®
©
@

11 times atmospheric pressure
2 times atmospheric pressure
10 times atmospheric pressure

4 times atmospheric pressure

16- Read this statement carefully and
answer the questions:

“Rock used by Paleolithic man to make spears”

1** : Mention the name of this rock
2" : Classify this rock and indicate its class.

1 dovouall Al e -\ 0
B e S il gt LAl
Jrem (Ol poedadiad doliall olcat

..... (_,.vgd.qu;.a.‘a

sk @ dabias 5ylaatt ola | ¥81 -\ Y
FUe (I I PP S [
) pd) Jeas (B (6 pomnd !
ual 1ia gl (1) 2 583
ol s s ()

17- Compare between Hematite and
pyrite in terms of color and streak.

Co el 5 g} s 1yl3 <1V
cpudnal! = Gl Co (o

Hematite / coolag!!

pyrite / co,d

color

STl

streak
Ol
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18- Study the figure, and answer the | @ Clalal (GO JSLEH uydl - VA
questions: . Loy i
sl s (5 siase = 5 |
Sea level C B i A

1*: Mention the marine area where spit occurs. | Ladi 1 dalaiell ,S3i: ¥y

2™ : Depth range of area (B). _ AV Lgd
3" : Mention the deposits of area ( C). (2) dalaiell Gee : Laly

| (.q-) m‘g‘w‘jjﬁlﬂ I.lﬂ:a
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19- Choose (A) or (B), then answer the question: | : @3 () of (1) o dudt i x251 =14
Replace statement with suitable scientific term: | ,__ . el pllaadtly 3 Laalt Jukiia

(A) Elongated sand dunes extend in the | (s JSaliatdaiuedde,olis (1)

dominant wind direction. il 7 53 olnit 9 Lgalan!
(B) Water bodies got separated from the | sled! e Juadid ddils aluwai (o)
main sea by the growing coral reef. il padf Oladd ) ged Ao
20- Choose the correct answer: s dsoall Al W S5 Y,
The chemical composition of gypsumis ...... | ... 98 punll SliasSI CuS !
(@)  Anhydrous calcium sulfate. Aslest psaattstict s (7)
(b  Hydrous calcium sulfate. Al psed S Sl S (Q)
(©)  Calcium bicarbonate. oSl SlsSe (D)
@ Calcium carbonate. A gl 1S3 S5 g ,S @
21- What would happenif ..... Seeennnns e Sy 13Le =Y
Looking at mineral opal from different | ;. oo L ¥ ase I tail
angles. Al Lis
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22- Read the statement and answer the s | @D AT 5yt 430 -YY
questlo'n: : oy A Jd) (galg Adlaine B O ygls)
“Economic deposits appeared in Nile o i \
valley and Abu tartur” b8l ceuly)y st b 92l
1% : What are these deposits? Syt oia oo Le (1)
2" : What are the environmental condition | cal i adodicagatile (o)
that cause the deposition? Scwlgpdloia (4983 I

23- Mention what Marcalli scale is used for. | ;ulGepdiung L@ 230 -YY

1S 0
24- Justify: ik Led Jle -YE
Rocks on the fault plain could suffer from | zitati seice e jgscall
J 9 (4o pals uB

metamorphism.
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25- Choose (A) or (B), then Compare:

(A) Organized grazing and overgrazing.

(B) Causes of mineral and fossil fuel

depletion.

(&) 91 (1) o 3uad ) i yisn) - YO
o Q) @

Rl o 115 el o 31 (1)

Slauly Oalasdid il ol (&)

(S a3 58 911 Bl il

26- (Herbivorous in the marine ecosystem are

different from the herbivorous in Desert
ecosystems). Explain this statements.

Allaidf B Codalt OMSTalisg, -Y1
Cedal | ST e (g pond ! e

.«‘é‘jbaua.ﬂ ‘“_,_i:«.‘m ¢M| ‘;ﬁ
Bylati sdd mag
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27- Justify: b Lat Jle =YV
Coastal areas are characterized by more | i &iw¥l ddsludl Gboliad! jls
thermal stability than continental areas. Aylatt abliadl e (5l !
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guldlp 923159 = ) : P = 2 flaal o

28- What would happen when? Toet e Sty 13ke = YA
Growing plant stem is exposed to equal SleoST mols Sl Bl o pad
amounts of light from all direction. Auila ol = gaall (e s glucie

29- Mention the importance of forest trees | ;2 OLilat yloii dreni 31 ¥4

in industry. LA lualt
30- Choose the correct answer: s dsvoall Al W) 5 ¥
A crystallographic system with three W e gt (g9t altait
unequal axes, a=g#f, Bis>or <90°. Jodall b dalise Auygly jglowe
e 98 00 (ya yhial gl 1T B glpdl
(@)  Orthorhombic. @it et (D)
(b)  Tetragonal. el ©
(©)  Monoclinic. Gt polai
(d  Triclinic. et (3

r19/0-1A Joll joaJl - A =alpoll Aulhhl) A A i



YoNA/Yo A ol pt plall - Jg¥1 5901 - (g 3oy ¥ AR ) At glall g Leom oF gom?t - ol g 301 el 5ol ALEN 33 (Lol

31- Choose (A) or (B), then answer the question:

Replace the statement with a suitable scientific term:
(A) Big Fractures and faulting and severe
folding that deform Earth’s crust.
(B) Era witnessed the formation of Earth
and its lithosphere, hydrosphere and
atmosphere.

103 (9) 91 (1) Gt 3t i 251 -1
tuliall alall ellouaally 3 Ladf Sk
dasial | Ole dait g oolaza acd i (1)
09-43 | ddcial) Silelgid W g
RS (F3%-~1[BYE
Lgialé gy ¥ 1515 ugs i ()
‘Aledly G921y G rduall

32- Choose (A) or (B), then answer the question:
choose the correct answer:

(A) Mineral Topaz scratch all the following
minerals except:

@) Gypsum.
(b Calcite.
(© Corundum.
(@ Fluorite.

(B) Native mineral has a nonmetallic

luster:
(@) Gold.
(b) Diamond.
@ Galena.
(@ Quartz.

102 (@) 9 (1) o duadt s § yi3nt =YY
 dowowal | dala W e

e 3l Oune s (1)
vt Lo L Gyalast!

s @)
Soglalt @

O®OO
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33- Choose (A) or (B), then interpret: 10 (@) 91 (1) o duadt s 2501 Y'Y
(A) The important role of the outer core of | ”‘“:;"
the Earth. ool Gl et aibcasid! (1)
18 S aasl Lgh (12 ) DT (on int|
(B) Theaxial plane of the foldusually includes |y 3.0 S r9omall Sl ()
all axes of folded successive beds. o1 solonadl pren Jady O
Gghail Leie Sladall Lgiod]
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34- Study the figure and answer the question: | :co i@ dlolel GO JSEH sl Y€

1** : What does this figure represent? SIS s Jian f3Le -
2" : What happens in the liquid upper | aGluiazdalt cos fale -¥
mantel? SrLo sl (e 5 alall 5 sl
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35- What is meant by.....? =3 Aguaiaell Lo -Y0
1%t : Environment Sleole kel : ¥
2 : Ecology ‘“_,.i:”g.m?m.‘d! : Lals

3o 5T S ¥ ltant)

36- Differentiate between residual and A, dad gl Ay (e (900 -

transported soils in terms of their i G (30 A galal!
textures.
residual soil /aas gt o transported soil / 43 gaiet! 4,381
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37- Choose (A) or (B) and answer the question:
Replace the statement with suitable
scientific term.

(A) Using the environmental resources
wisely.

(B) Period when day animal activities are
reduced gradually and get back to their

homes.

103 (9) 91 (1) Gt 3t i 231 -YY
rllaia ety 3)lratt Jiiwl
cowliad ! (alati
diedt a9t Al siwl (1)
B Oge
Qg ol Lgud Ja3 3,50 ()
@ oy B )guay dnylet!
Lgha Do (1 2 gai

38- Choose the correct answer:
All of the following features indicate
differential erosion except:

Coastal caves
Canyons

Stalactite

®OE

Mushroom

39- Justify:
Similarity of geological structures of the
southern continents.

1 Aovouall Aala Wi 331 -FA
e Jud pallaadl (o b Lo pren
e Lo (pbiad | Conid | &g

s Lt O yLaad @

sla @
daslag!! @
WAPRING)

: Jle -r4

Qbm ‘__,:,3.!3."‘:...!!;\.1.311@1_&5
Aalinal) A gind

........
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40- What do cause the continuous, slow, | 5 dal zist1 & o o Lo -
hardly sensed movement of tectonic | ditayae pu di1s 48> dud ¥

9 - :
plates? g il

41- Which mineral can be described by | daad i1 oilae! gl Lo - £\

the following statements? L OGS o HLat
1** : Native mineral with basal cleavage. | .saeldalaiil g3 g puaic (uns : ¥y
2" : Carbonate mineral with true green | 093 43 =liga S uas = Lols
color. POy
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42- Give short notes on water table 1 (0 B pualiime 30 S| - £ Y
(of ground water). 5 5n ) Ferin s oliad| s ganice
(A, Lo
43- Choose (A) or (B), and discuss: (@) 9 (1) ot gt i ) -£Y
(A) Abnormal expansion of water and its radlb @3
importance to marine organisms. dicadly slell SLAT) ettt (1)
(B) Annual plants is not true desert plants. Ayl sl S
Cewd gt SLELCT (o)
SAdydo A gl pmo OiLS
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44- Study the figure and answer the questions: | :coi 3 Slolel G JSEN (uya! -§

1%t:What is the structure 1 ? | §(V) s, Lo &33
2" : Justify you choice? S a;l-u“:-yd_\c\_:_,u
34 :What is the structure 2? i uu
R e T
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45- Compare between Komatite and
rhyolite in terms of mineralogical
composition and rock classification.

il 31 315 CoilagSH (o 3513 -8
29 (el | G p U S (40
ouall cadual

Komatite / ccile o531

rhyolite / ccd g1 31

mineralogical
composition

S |
(Paad!

rock
classification

- " ‘“. -
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